光學作業 應物三甲 0932348 李正偉

Problem 9-5

Two light filters are used to transmit yellow light centered around a wavelength of 590nm. One filter has a “broad” transmission width of 100nm, whereas the other has a “narrow” pass band of 10nm. Which filter would be better to use for an interference experiment? Compare the coherence lengths of the light from each.
Ans. (1)The “narrow” pass band would be better.

    (2)
[image: image1.wmf]t

 

l

 

 = 
[image: image2.wmf]0

 

*

 

c

t

 = 
[image: image3.wmf]l

l

D

2

   ____( 
[image: image4.wmf]n

=
[image: image5.wmf]l

c

 , d
[image: image6.wmf]n

= -
[image: image7.wmf]2

l

c

d
[image: image8.wmf]l

 )

      100nm: 
[image: image9.wmf]t

 

l

 

 = 590nm
[image: image10.wmf]2

/100nm = 3.48*10
[image: image11.wmf]6

-

 nm

      10nm : 
[image: image12.wmf]t

 

l

 

 = 590nm
[image: image13.wmf]2

/10nm =3.48*10
[image: image14.wmf]5

-

 nm

_1235238249.unknown

_1235238325.unknown

_1235238467.unknown

_1235238802.unknown

_1235238902.unknown

_1235238588.unknown

_1235238343.unknown

_1235238272.unknown

_1235238147.unknown

_1235238180.unknown

_1235238108.unknown

